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AN &8Iz
MY ANBSAE P
el FHBSAE Oy 1S SREED
- _ _ RE]
SA BB (3H) - NRAY - B %Ei 2t
Al 61,206
307 2iz2to| A 201,019 201,019 0
= 139,813
Al 61,206
10 MM SAANEEHESIGHEX 201,019 201,019 0
Od=ZdT|ol A BESAIE 29| 201,019
= 139,813
Al 61,206
SAZHEIOHA XS =sT2]8 & o/ =H| 16,950 16,499 451
= 11,865
Al 5,085
307 QI2+0| & 16,950 16,499 451
2 11,865
Al 5,085
10 A SXNANEEHESIHEX 16,950 16,499 451
OdZdOolA XNsgsT e 2 o ZH| 16,950
= 11,865
Al 5,085
SOHOHIIoH AF RIRAlAE SFH| 493,810 477,200 16,610
= 345,666
Al 148,144
307 2I2t0| & 493,810 477,200 16,610
= 345,666
Al 148,144
10 M SXNANEEHESIGHEX 493,810 477,200 16,610
OXOHOHTII o X KIS AIE 2HH| 493,810
= 345,666
Al 148,144
SOHOHIIGH Kb 22K & AFS 86,354 76,070 10,284
= 60,449
Al 25,905
307 giztol A 86,354 76,070 10,284
= 60,449
Al 25,905
10 MM SAANEEHESIGHEX 86,354 76,070 10,284
OXOHOHILIGHAF 2 EXE AFS 86,354
= 60,449
Al 25,905
HAE=ZHTIol A XNEAE 2XN=H 99,639 58,489 41,150
Al 99,639
307 QI2t0| ™ 99,639 58,489 41,150
Al 99,639
10 Al SEXNANEEHE2IGH EX 99,639 58,489 41,150
OWAEZZ0HIHAN ANRANE E2XNSH 99,639
Al 99,639




SAD SIS
MY ANBSAE P
el FHBSAE Oy 1S CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HAEAE MAHASA 124,047 121,258 2,789
= 111,642
Al 12,405
301 LBt A= 124,047 121,258 2,789
= 111,642
Al 12,405
01 AISIE & A %52 124,047 121,258 2,789
OWAAE MAZSN 124,047
= 111,642
Al 12,405
Ols - 4 otE™ X9l 29 7,240 7,200 40
= 3,620
Al 3,620
201 2Et24Hy| 7,240 7,200 40
= 3,620
Al 3,620
01 AP 22| d| 7,240 7,200 40
O0ts - M XS 89 7,240
= 3,620
Al 3,620
HYEISIEAHAHIIO s 29 1,200 0 1,200
201 et d9d| 1,200 0 1,200
01 AP 2t 2] H| 1,200 0 1,200
OdgdaE24dm") Mg & E22 ME 1,200
HAERSIEA =M 29,100 0 29,100
HAERSGEA =M 29,100 0 29,100
201 et | 9,100 0 9,100
01 AP 2t 2| H| 9,100 0 9,100
OWARSIT Al AMSEHE X LG 3,000
OWHEZEZA FUNHNEHX 22F 2,000
OWHERZIZA SH3I=8 L EE2 M & 2,000
OHZST=A ZEEAN &4 2,100
207 I & 20,000 0 20,000
01 A& H| 20,000 0 20,000
OWHRZIEAN =4 SEI| HESEY ARsd 20,000
25 2 JIs X 35,638,715 32,766,504 2,872,211
= 19,892,793
Al 13,208,912
- 2,537,010
=21 =4 2,036,533 2,010,162 26,371
= 911,196
Al 901,694
- 223,643




M HEIIED
o |

M 9% Y I K
@ E=EX A (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
SNIAZ 282,000 291,000 29,000
Al 282,000
301 et a3 282,000 291,000 29,000
Al 282,000
01 A3l EE E 56l = 282,000 291,000 A9,000
OSLRAS 282,000
Al 282,000
ELEGHS 179,000 179,000 0
301 L2 A= 179,000 179,000 0
01 A3 EE E 5l 3 179,000 179,000 0
Osd=6t3 179,000
- S MAH 200,000& *520H 104,000
— KUTH KA 500,000 x150H 75,000
SHMEY MY 2Y 900 900 0
201 L2l 900 900 0
01 At 2t 2l 900 900 0
Os¢tde 2= MA 900
BREIIE OlSYSH S X 384,123 417,000 £32,877
= 307,298
Al 76,825
301 L2 A Z 384,123 417,000 AN32,877
= 307,298
Al 76,825
01 MEIBEE 263 384,123 417,000 AN32,877
OR2IIE ks =sH s XA 384,123
= 307,298
Al 76,825
SR 2ILEXE AlHIALS 272,000 238,000 34,000
Al 272,000
301 getE 4= 272,000 238,000 34,000
Al 272,000
01 A3l EE E 56l = 272,000 238,000 34,000
Ot 2IEXE AlHIALS 272,000
Al 272,000
SIRQINE(R2XIE) Mg FHIAFAG 7,000 7,200 A 200
Al 7,000
301 L2 A S 7,000 7,200 A 200
Al 7,000
01 MEIBEE 2053 7,000 7,200 A 200
OSRZINF(FEXNIEF) MHEFHIE A 7,000
Al 7,000
Hiod S22 NHEAJAAY 8,356 10,500 AN2,144




2N
X ZH -
L= B

el

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2

= 6,685
Al 1,671

301 LBt A= 8,356 10,500 N2,144
= 6,685
Al 1,671

01 Al E & A 462 8,356 10,500 N2,144
OFAYE 822 NEHISAAS 8,356
= 6,685
Al 1,671

OOl S0l K& 706,022 677,000 29,022
= 494,215
Al 211,807

307 QI2t0| ™ 706,022 677,000 29,022
= 494 215
Al 211,807

11 Al EXAIEEX 706,022 677,000 29,022
Ootolss XA 706,022
= 494 215
Al 211,807

ALINAEXNJAANE 29 174,970 167,300 7,670
= 87,485
Al 43,742
- 43,743

307 2Iz2t0| & 174,970 167,300 7,670
= 87,485
Al 43,742
- 43,743

11T A EXAIEEX 174,970 167,300 7,670
OAHLINEXNHLHEH 2H 174,970
= 87,485
Al 43,742
5 43,743

ChEst JIE s=2=0us 294 A& 22,162 22,262 A 100
= 15,513
Al 6,649

301 YU B A 22,162 22,262 A 100
2 15,513
Al 6,649

01 Al B & A 462 22,162 22,262 A 100
OUE3IIE st=20ns 249 22,162
= 15,513
Al 6,649

28 2 aold X 33,602,182 30,756,342 2,845,840
= 18,981,597
Al 12,307,218
- 2,313,367




= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2
FAS CHLY 2,000 2,000 0
201 £2d 2,000 2,000 0
01 At 2t 2,000 2,000 0
OBSA 16,000& 1255 2,000
SWARA o2 3,724,137 3,724,137 0
= 2,235,423
Al 1,043,044
T 445,670
307 glz2+ol & 3,724,137 3,724,137 0
= 2,235,423
Al 1,043,044
T 445,670
10 AtSI = X1 Al | 3,724,137 3,724,137 0
OE=suA 3,724,137
= 2,235,423
Al 1,043,044
- 445,670
HE ol E 2,400 2,400 0
2 1,440
Al 672
- 288
307 21201 A 2,400 2,400 0
2 1,440
Al 672
- 288
10 AFRIS XAl E |2 X 2,400 2,400 0
OZOHOLEE Al 2,400
= 1,440
Al 672
T 288
S8 ooy 350,000 283,200 66,800
= 210,000
Al 98,000
- 42,000
307 glz2tol & 350,000 283,200 66,800
= 210,000
Al 98,000
- 42,000
10 M3 EXANEHEEH 350,000 283,200 66,800
O33¢ o&ol 350,000
= 210,000
Al 98,000
- 42,000
25 AlHIALY 7,110,138 5,036,488 2,073,650
Al 7,110,138
307 21201 A 7,110,138 5,036,488 2,073,650




2N
X ZH -
L= B

el

GRS D)

o H
0

il

o
s
MEIVESEE.

He ]&

M- B8-S (3H) - HRAY - BES il &t o il
Al 7,110,138
10 ALSISXAIEEE 22X 7,110,138 5,036,488 2,073,650
OB3~5M0F =2l E BEsE 5,960,000
Al 5,960,000
OF=FXNEA 00y Xgzgd X 9,000
Al 9,000
ONgold &g 2 25+ At 56,566
Al 56,566
OF2XNA Heold wHu>Hl X 18,640
Al 18,640
O2IZIE E|0AL SEX=+E 853,000
Al 853,000
OEIESHEO0IE EFSWA HE K& 165,000
Al 165,000
OFMHEENHEOE ESA S22 X
o 20,600
Al 20,600
OO02ZAHE0lE Z2clA2 2% Atg ] 1,332
Al 1,332
OZROXNINHE0E HENMNASS ANBESEZE
A& 26,000
Al 26,000
SR FAF 1,400 1,400 0
201 et 1,400 1,400 0
01 At 22l 1,400 1,400 0
OE=<a3 39 F4+¢
70,0003 x 109 *23| 1,400
2P0l ww+dl X3 48,860 48,690 170
= 29,316
Al 13,681
T 5,863
307 glz2tol & 48,860 48,690 170
= 29,316
Al 13,681
T 5,863
10 ALSISXAIEEE2EH EX 48,860 48,690 170
Ogl2tel0lE WIHw ] 48,860
= 29,316
Al 13,681
- 5,863
3 24 & 6,763,467 6,284,000 479,467
= 5,072,600
Al 1,183,607
- 507,260
301 LB HAS 6,763,467 6,284,000 479,467
2 5,072,600
Al 1,183,607




AN GEIEY
Hu: 28 9 JIE X¥
©e: 28 2 oYY X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- 507,260
01 MEIBZE 06z 6,763,467 6,284,000 479,467
Otgg=s=gia 6,763,467
= 5,072,600
Al 1,183,607
- 507,260
QI tE 20l HeH = 41,600 41,600 0
307 21201 A 41,600 41,600 0
10 ALSISXAIEEE2IHEX 41,600 41,600 0
OgIZE ENHE 0l el 41,600
FXE | 14,080 14,080 0
308 MtXIEHMSOIH 14,080 14,080 0
08 WSEII20HetE = 14,080 14,080 0
OSXI& eyl 14,080
02M 2528 & XN& 14,176,508 14,280,000 A~ 103,492
= 10,632,381
Al 2,480,889
T 1,063,238
307 glz2tol & 14,176,508 14,280,000 A 103,492
= 10,632,381
Al 2,480,889
T 1,063,238
10 AL SXAIEEE2EH EX 14,176,508 14,280,000 A 103,492
O02M 258 S 14,176,508
= 10,632,381
Al 2,480,889
- 1,063,238
HIZOHOF e B2 3,200 3,400 2200
Al 2,816
- 384
307 21201 A 3,200 3,400 A 200
Al 2,816
- 384
10 ALSISXAIEEE2GHEX 3,200 3,400 2200
OHIZoHor gt B8 3,200
Al 2,816
- 384
WA 223 X3 1,005,680 980, 155 25,525
= 603,409
Al 281,590
- 120,681
307 glz2tol & 1,005,680 980, 155 25,525
= 603,409
Al 281,590
- 120,681




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 1,005,680 980, 155 25,525
OuMZREZ ML X4 1,005,680
= 603,409
Al 281,590
- 120,681
OlOIAtE 22 ZLIHEH 23| 8,244 8,244 0
= 4,122
Al 1,982
T 2,140
201 Let24d] 8,244 8,244 0
= 4,122
Al 1,982
T 2,140
01 At 22l 8,244 8,244 0
OO0l0IAIE 22 ZLIHE S 29| 8,244
= 4,122
Al 1,982
T 2,140
AMZHES X 46,548 46,548 0
= 23,274
Al 11,637
- 11,637
301 g4 = 46,548 46,548 0
= 23,274
Al 11,637
- 11,637
01 MI2EZE 06z 46,548 46,548 0
OANZHE=SZE X3 46,548
= 23,274
Al 11,637
- 11,637
oglold ¢ed X & 21,200 0 21,200
307 glz2tol & 21,200 0 21,200
10 ALSISXAIEEE2EH EX 21,200 0 21,200
OgIZb tENEold ¢etyl 21,200
QI IE 2 0IE X WAL 21244 282,720 0 282,720
= 169,632
Al 79,162
- 33,926
307 21201 A 282,720 0 282,720
= 169,632
Al 79,162
- 33,926
10 M2 SXNANEHE2IHEX 282,720 0 282,720
OQZE IMENE0ld EX WAL el 282,720
= 169,632
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SN &R

HEM: FAHS 0l 25
Sl XHAE OFSol ATE S4 (B9 ®R)
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 7,569,786
Al 5,825,447
- 168,496

NEAS OlsSe HAE8E 4 2,711,941 2,626,050 85,891
= 1,005,393
Al 1,538,052
- 168,496

A0S LS KNS 57,600 57,600 0
= 40,320
Al 17,280

301 Bt A= 57,600 57,600 0
= 40,320
Al 17,280

01 AR E & A 462 57,600 57,600 0
OAots s I 57,600
= 40,320
Al 17,280

A00tSYY dsEX2 XS 17,730 19,336 A 1,606
= 12,411
Al 5,319

301 et A= 17,730 19,336 A 1,606
2 12,411
Al 5,319

01 Al B & A 26 2 17,730 19,336 A 1,606
OXMOISLY AdEE2XZ X 17,730
= 12,411
Al 5,319

QUAIE PEOIs AelXE NIAY 3,000 3,600 A 600
= 2,100
Al 900

301 LBt A 3,000 3,600 £600
= 2,100
Al 900

01 Al E& A 252 3,000 3,600 A 600
OLAINE A0S dMelXE XNSAY 3,000
= 2,100
Al 900

S0l A0ts =4 X 4,800 4,800 0
Al 4,800

301 LBt A= 4,800 4,800 0
Al 4,800

01 Al E & A 462 4,800 4,800 0
odgoteesots A=z X 4,800
Al 4,800

Hol gist=E Ol 24X 658,865 663,865 A5,000
Al 494 149




AR GRS =

B FHo)E O 25
@2 XA ots2 2HE |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
- 164,716
307 glz2tol & 658,865 663,865 A5,000
Al 494,149
- 164,716
11T MISXASEEX 658,865 663,865 A5,000
OBY, &= Ots=s4KE 658,865
Al 494,149
- 164,716
E, 2FY Ots=2AX& 117,530 123,030 25,500
Al 117,530
307 21201 A 117,530 123,030 25,500
Al 117,530
11T MISXASEX 117,530 123,030 A5,500
OE,&25¢Y Ot=s=24 K& 117,530
Al 117,530
EIAAALY 980 490 490
201 Let249H] 980 490 490
01 At 22l 980 490 490
OOlE2A9IRE 30 &ALg
70,0003 +x7H #23| 980
IIERE OIS XA 117,000 117,000 0
Al 117,000
301 et a3z 117,000 117,000 0
Al 117,000
01 AR 2Z A5 3 117,000 117,000 0
Ot &SN 117,000
Al 117,000
A2EAEHINE  IIERE AME0ts HetsEa3 A& 49,200 35,000 14,200
Al 49,200
301 gt L= 49,200 35,000 14,200
Al 49,200
01 MI2ZE 6= 49,200 35,000 14,200
OAEAUEIIE IS ALOIE (S22
A& 49,200
Al 49,200
28A2HIEOlsE NHEXE 25,000 36,000 A 11,000
Al 25,000
301 et a 3z 25,000 36,000 A 11,000
Al 25,000
01 MI28E 6= 25,000 36,000 A 11,000
OxEAHIIEOIESE MHEXH 25,000
Al 25,000
OrsZEX3AE XA 131,562 135,109 N 3,547




AR GRS =

M HAHES Ot BS
SRl XAIE OlS Ol AHE =4 (29 a8)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 92,093
Al 39,469
301 LEtE L= 131,562 135,109 N 3,547
= 92,093
Al 39,469
01 A3l EE E 56l 3 131,562 135,109 N 3,547
OOtsLERAAE XA 131,562
= 92,093
Al 39,469
e 0l=s0lH |RXE=H 800 800 0
201 L2l 800 800 0
01 At 22l 800 800 0
ONegol=0l86 RAE=HI 800
NGEotsdye 24 X& 877,752 813,996 63,756
= 438,876
Al 438,876
307 21201 A 877,752 813,996 63,756
- 438,876
Al 438,876
10 M3 SXNANEHI2IHEX 877,752 813,996 63,756
OXgotsdH 2d4l 808,104
= 404,052
Al 404,052
OXN<E0tsHEH ER2E 33,408
= 16,704
Al 16,704
OE+==XdE XA0tsdH 22l 36,240
= 18,120
Al 18,120
OIESHEY NANSHE 22 X 23,400 14,400 9,000
Al 23,400
307 glz2tol & 23,400 14,400 9,000
Al 23,400
10 MBI SXNANEHI2IHE=X 23,400 14,400 9,000
OoEsdg XNG0tsdEH 29l 23,400
Al 23,400
XNEotsdE SAX X< AL 53,520 45,100 8,420
Al 53,520
307 21201 A 53,520 45,100 8,420
Al 53,520
MIIEXANLEHE2IHEX 53,520 45,100 8,420
OXG0otsdH SALA M IH&HI 53,520
Al 53,520
XGOS ME OISE X DA KE 215,040 210,150 4,890




2N

P IlE=n}

B FHo)E O 25
@2 XA ots2 2HE |4 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

= 107,520
Al 107,520

101 @144 dl 215,040 210,150 4,890
= 107,520
Al 107,520

04 JIZHHZ2XREES 215,040 210,150 4,890
OXgotsdE Ots=XIwA 1244] 215,040
= 107,520
Al 107,520

ANgotsdE IPTV 22 22| 20,840 22,040 A 1,200
Al 20,840

307 21201 A 20,840 22,040 A 1,200
Al 20,840

10 ALSISXAIEEE2GHEX 20,840 22,040 A 1,200
OlPTVE2Y X3 20,840
Al 20,840

ASEotsdH 8 Us JtE CtEgdsl 2,000 2,000 0

201 £B-2d| 2,000 2,000 0

03 A2 S HI 2,000 2,000 0
OXYotsdH HegeHEs S MsUal 2,000

2 =ot=a K& 3,000 3,000 0
Al 3,000

301 LtE L= 3,000 3,000 0
Al 3,000

01 A3l EE & 56l 3 3,000 3,000 0
Oge=dta XA 3,000
Al 3,000

Ae=HI2t 2RI S XA 2,800 3,714 A914
= 1,960
Al 840

301 L2 A F 2,800 3,714 A914
= 1,960
Al 840

01 AL EE E 563 2,800 3,714 A914
Ogd=edi2 2RXZ2 X 2,800
= 1,960
Al 840

NGotsdl =2etelsts =28 X 7,500 7,500 0
Al 7,500

307 21201 A 7,500 7,500 0
Al 7,500

10 M3 SXNANEHISIHEX 7,500 7,500 0
OXY0otsdE 2¢etelets =28l X& 7,500
Al 7,500




S HgotEY

B: HANS OS 25
D NG AS Ots9 HAEE |4 )
SN FHE - B(BA) - MRAY - BHES il 2
NG0tsd e Heter, SAHHl XI& 4,890 4,410 480
Al 4,890

307 gl2tol & 4,890 4,410 480
Al 4,890

10 M3 SXNANEHIS2IHEX 4,890 4,410 480
OXSotsHy HLte, AH XI& 4,890
Al 4,890

ANEotsdH M X2 2,685 2,550 135
Al 2,685

307 glz2tol & 2,685 2,550 135
Al 2,685

10 M ZXNANEHE2IHE=S 2,685 2,550 135
OXgotsdy HesE X 2,685
Al 2,685

g E Na 14,447 0 14,447
= 10,113
Al 4,334

307 21201 A 14,447 0 14,447
= 10,113
Al 4,334

11T A S XA E X 14,447 0 14,447
OUYHIE X 14,447
= 10,113
Al 4,334

CEABEANY 300,000 300,000 0
= 300,000

101 14 Hl 108,760 106,260 2,500
= 108,760

04 JIZHHZ2XNHEE S 108,760 106,260 2,500
OJIZ2tHMZ 2 X+ el A bl 108,760
= 108,760

201 L2l 157,320 151,155 6,165
= 157,320

01 At 22l 147,112 140,447 6,665
OEEgAHRE T2 29 111,502
= 111,502
OLEEAEE dH 29 2,270
= 2,270
OZ At 19,080
= 19,080
O=W22HF SAHl  7,0008 4«54+ 128 1,680
= 1,680

OEEAEE XA S NSH|

220,000& x7H %23 3,080




2N

P IlE=n}

Ha: FHUNE Ol 25
@2 XA ots2 2HE |4 (&)
SA - BAEH) - NRAY - LS 0l &k 24 il HRE2

= 3,080
OESAEERIRAS ST 1,100
= 1,100
OEHAERE 822 M 8,400
= 8,400

02 3322l 7,208 7,708 A 500
ORERI, MIIRE S 2323 5,208
= 5,208
OxXt& R A2l 1,500
= 1,500
OSEYAEE HdH W AEKRXA 500
= 500

03 #HAL2 Z Hl 3,000 3,000 0

OEEAERE EE2RA 2E S

1,500, 000& *23| 3,000
= 3,000

202 oddl 7,320 6,960 360
= 7,320

01 SLHOIYI 7,320 6,960 360
OEEAEE ARWE EH0 7,320
= 7,320

203 PR =&Yl 2,400 2,000 400
= 2,400

03 AIF=XH R =AH| 2,400 2,000 400
OEHAERE 2tE3l S AIMFAH| 2,400
= 2,400

301 L2 A F 250 5,125 N4,875
= 250

11IIEEAS 250 4,625 A4, 375
OUAX JI=A SEL B4 50003 +50H 250
= 250

307 21201 A 21,950 26,000 A 4,050
= 21,950

11 AL SXAEE X 21,950 26,000 A 4,050
O8I Tz )d 2I X 21,950
= 21,950

402 RI2EX=20l A 1,000 1,000 0
= 1,000

02 RI2HCH &AM HI 1,000 1,000 0
OEEHAEE SEFEBANAE 2= 1,000
= 1,000

405 TtabF S| 1,000 1,000 0
= 1,000

01 AL EFH S 1,000 1,000 0




A OIS

B FHo)E O 25
Sl KISAIE OISO AWE K4 (29l & 2)
SA - BB B () - MM - BES Ol &t o San HmEET

OMRE HIEZ £ Z208 2HsE ¢ 1,000
= 1,000

Ots=EXAE 22X & 4,851,788 4,665,436 186,352
= 564,393
Al 4,287,395

OtsAlE 4= 606,340 581,708 24,632
= 545,706
Al 60,634

301 L2 A S 606,340 581,708 24,632
= 545,706
Al 60,634

01 MEIBEE 2063 606,340 581,708 24,632
OO0tsAlE MHSN 606,340
= 545,706
Al 60,634

OlSAIZ&23H ¥ SAL 2Ad| 3,929,069 3,645,214 283,855
Al 3,929,069

307 21201 A 3,929,069 3,645,214 283,855
Al 3,929,069

10 M2 SXNANEHE2IHEX 3,929,069 3,645,214 283,855
OOts=XNAE 2EH L SALA2AH| 3,889,069
Al 3,889,069
OutsgANESs 298 XA 40,000
Al 40,000

Ots A4 AlHIXI& 124,687 106,900 17,787
Al 124,687

307 21201 A 124,687 106,900 17,787
Al 124,687

10 ALSISXAIEEE2EHEX 124,687 106,900 17,787
OAIZ0ts =St &l 6,516
Al 6,516
OZO0LAIE 4T 9,990
Al 9,990
OAE0ots WEHl X2 (x,5,04) 22,577
Al 22,577
OAIZ0tE oA=&l 5,753
Al 5,753
OA&0ls 8= 60,351
Al 60,351
Ost&2XH(ZAHl) 19,500
Al 19,500

A0t NEEEAS 125,000 126,000 1,000
Al 125,000

301 L2 A= 125,000 126,000 21,000
Al 125,000




M HEIIED
B FHo)E O 25
el Ots=XAE 2GR (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 A3l EE & 56l = 125,000 126,000 A 1,000
Ofla0ls XNHEH=Z 125,000
Al 125,000
SSHEIIF(OEE)2E NH 46,718 44,213 2,505
= 18,687
Al 28,031
307 21201 A 46,718 44,213 2,505
= 18,687
Al 28,031
10 ALSISEXAIEEE2EHEX 46,718 44,213 2,505
O3sMEINd(0s8E) 29X 46,718
= 18,687
Al 28,031
SSHEIIE A¥ds4H XA 4,774 4,774 0
Al 4,774
307 21201 A 4,774 4,774 0
Al 4,774
10 M2 SXNANEHES2IHEX 4,774 4,774 0
O=sdalld 2344 XA 4,774
Al 4,774
SSHEINE SAL EXN=E 4,200 0 4,200
Al 4,200
307 glz2tol & 4,200 0 4,200
Al 4,200
10 M ZXNANEHI2IHE=X 4,200 0 4,200
O3sdEIIE SAN sX=2 K& 4,200
Al 4,200
OtsAld ordzte] - EZMA R 11,000 0 11,000
Al 11,000
307 2I2t0l A 11,000 0 11,000
Al 11,000
10 ALSISXAIEEE2GHEX 11,000 0 11,000
OOtsSAlE otd el  SHMAR K& 11,000
Al 11,000
HFaod B5 2 4 131,670 119,878 11,792
= 68,820
J| 4,200
Al 40,380
- 18,270
HdAa4d =X 131,670 119,878 11,792
= 68,820
J| 4,200
Al 40,380

T 18,270




A O{EIIS D

Hm: HAW 25 U 84
ool HAW =X CERED
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HAEES 12,270 12,878 A 608
= 1,200
Al 1,200
- 9,870
201 gEt24dy| 9,470 9,878 AN408
01 AP 22| H| 9,470 9,878 AN408
O fguol g, sothee g3
B600& x4,000H 2,400
OFAaUEs 23 U2 1,140
OFAEESH/AKS 3o &A ¢
70,000 *9H *13] 630
OXNGAMNFEAEHSSXNEMAH2IEE2AS 329
P = 70,0002 x 10 x23| 1,400
OStDEAH NAFO3 3loas +g
70,000& x15H x23| 2,100
Ostn=Z80g =22 M 5003 x3,600H4 1,800
301 et A= 400 400 0
11 JIEtE A2 400 400 0
OFAEBESHLAE AIDITAZ K=
50,000& =8 400
307 QI2t0| ™ 2,400 2,600 A 200
= 1,200
Al 1,200
02 QIZHBAAIE E X 2,400 2,600 A 200
OFAERMNEHUANG 2 IAE 2,400
= 1,200
Al 1,200
HadE 28 29 14,000 34,000 A 20,000
Al 7,000
- 7,000
307 2iz2to| & 14,000 34,000 A 20,000
Al 7,000
- 7,000
10 MM SAANEEHESIGHEX 11,200 27,200 A 16,000
OFAEHZEE 29 11,200
Al 5,600
3 5,600
11T A EXAIEEX 2,800 6,800 A 4,000
OFAEZEE T2 )2 A H| 2,800
Al 1,400
- 1,400
SEEXNJUHY FA2EXA 6,000 6,000 0
J| 4,200
Al 1,800
301 Bt A= 5,520 5,520 0




SN 8IS
XM HAH
e R PNE

SA - BB B () - MM - BES Ol &t o San HmEET

Jl 4,200
Al 1,320

01 MEI2BZE+06l= 5,520 5,520 0
OSENdUY FadE ALY 5,520
J| 4,200
Al 1,320

307 21201 A 480 480 0
Al 480

11T AL SXAIEE = 480 480 0
OSEXNaUe Fad Ardll2el 480
Al 480

st o8 HAaY XEAY 96,600 67,000 29,600
= 67,620
Al 28,980

307 glz2tol & 96,600 67,000 29,600
= 67,620
Al 28,980

05 RIZHRI & 3 96,600 67,000 29,600
Osgtw & A4 ALY 96,600
= 67,620
Al 28,980

A2EHEFHRAAE 2H XA 2,800 0 2,800
Al 1,400
T 1,400

307 212+0| & 2,800 0 2,800
Al 1,400
T 1,400

05 212t E = 2,800 0 2,800
OFAHENWRAS 29 2,800
Al 1,400
- 1,400

HAE2AZH (HEIIE) 83,548 62,428 21,120

JlEZl 83,548 62,428 21,120

JlEZtl 83,548 62,428 21,120

201 Let24E| 15,508 11,828 3,680

01 At 22l 15,508 11,828 3,680
O=AERX ¢ 20,0003 70 A 1,400
OEUHTY 3,050
== 115,000 =40 53] 2,300
-ZelH(2d) 150,000 = 1CH 53] 750
ORM2EII2+EH| 10,000& 19 128 2,280

OAIZAZ R XS AHI

7,000& #5.541x19H « 128 8,778

202 4Hl 63,840 48,000 15,840




D HAIEY
D EYERIIH(HAED

- B(EN) - NRAY - By S il
01 = LH 4 bl 63,840 48,000 ,840
OZHoiHI 280,000& *x19¥ x12& 63,840
203 YR =2t 4,200 2,600 ,600
EEXS] 4,200 2,600 1600
ORA2Y 350,000& 122 4,200
S(64or=) 70,000 0 ,000
LHEHH XS (LD 70,000 0 ,000
IsdE3(24d 70,000 0 ,000
702 J1S¥ES 70,000 0 ,000
01 JI3dE= 70,000 0 ,000
OLd¥Es 70,000




